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John Rawls claims that the tax system is fair in which the position of the least advantaged would be maximized by redistributing some wealth from the wealthiest and most favored, provided they worked. He further claims that the rich is getting richer, while the poor remains poor. Hence he states that the tax system in which rich makes payment for the wellness and betterment of poor is considered as fair. Beyond that, Rawls says that we should agree to progressive taxation so that the community would be leading towards progress. 
John Rawls attempt to prove that his calaimed tax is fair by proving that it would empower the poor ones while the rich would be getting richer instead. 
The claim of Rawls can be critized in a way that paying tax in every citizens’ responsibility and each citizen should contribute. But, he claims that only richer and working groups should pay tax instead of all. In addition, every ctizen should pay tax which may be through direct taxation or indirect taxation but they must pay taxes. As well as states set tax rates which perfectly meets the affordability of people, so that everyone can pay his or her taxes that might be someone rich or poor.
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